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1.

AT U B HRAT AR 7

Attempt all the Question

g% BB 01 H 10 3 FEiRd 2 | & $Ia@Us & | @Us " ¥ 05
JEfAdmed U qAT v ‘g’ H 05 Rad WIHEl &I yfdd srerar 3frd
|y SIS | U e & o 1 3fd JEfed & |

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B is fill in the blanks or
match the column carries 05 marks.

U G 02 | U HHIP 09 IF AT TSI U B | YAH YA
UR 02 3 ATEET 2 | SR Dl JADHAH 2eq HAT 30 Tea |

Q. No. 2 to 09 are very short answer type question & it carries 02 marks

each. Word limit is maximum 30.
T D 10 H T HHAID 15 TP AYITRIT U © | TD YT TR 03
3 AMEfed & | SN Bl fhdyd Ies T 50 g |

Q. No. 10 to 15 are short answer type question & it carries 03 marks

each. Word limit is maximum 50.

Ue HHAIG 16 H U HAIG 21 dh dgSwid U & | AP U H
3MaR® fdded & 3R TS U TR 04 3id IEfed B | SR Bl STfrdbad
gleg HIHT 75 ¥ |

Q. No. 16 to 21 are short answer type question & it carries 04 marks

each. Each question has internal choice. Word limit is maximum 75.
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U HIdG 22 § U HHIG 25 AP QUSRI U 2 | YD U H
3ffaRe® fadme 2 3R I U WR 05 3id dfed © | Sk & ffdrehaH
vleq AT 100 Tes |

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question has internal choice. Word limit is maximum 100.
U9 HHIP 26 W UL HHID 27 Adb QIUSad U9 § | YD g H
3ffaRe® fadmed 2 3R I U WR 06 3id MEfed © | Sk &I 3ffdrehaH
oeq AT 150 e |

Q. No. 26 to 27 are long answer type question & it carries 06 marks

each. Each question has internal choice. Word limit is maximum 150.
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(i)

(iii)

(iv)

Choose correct alternatives :-

Sirehfe wify v ST B —
(a) W (b) SR

(c) dfestan @ s
Industrial revolution started first -

(a)  France (b)  Germany
(c) Belgium (d)  England
BT W Sool Ufoue 3ffafs Ay faar Tar—
(a) 2002 (b) 2006

(c) 2004 (d) 2008

Law aginst the dowry implimented in chhattisgarh -

(a) 2002 (b) 2006

(c) 2004 (d 2008
RIS Al & aredl I & —

(a) WA b) fafdma
(c) BINTE d S
The state that provide unemployment allowance -

(a) Kerala (b)  Sikkim
(c)  Chhattisgarh (d)  Orrisa
IRA & Y e T € —

(a) T R (b) T
(©) S @ s
India's main economic problem is -

(a)  Control price rise (b)  Rationing
(c)  Production (d)  Price rise

(1x5)
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Fsfral & forg faare @ <gaa+ g § —

(a) 219 () 19N

(¢) 17 a9 (d 18y

The minimum age to marry for girls is -

(a) 21 years (b) 19 years

(c) 17 years (d) 18 years

Raa wm= @t gff #ifsg (1x5)
Fill in the blanks :-

HYad I G BT AT o IR | Rerad g |
In.oiii, city is the secretariat of United Nation Organisation.

D T H FAS oo qof H a9 o |

In vadic era, Society was divided in ............cccceue...e. classes.

deg BT U & oIy Aqfed wU W YIS § o Al @l a1 &l
.............................. BEd |

To achieve goal people try collectively is called............ccoeevrennennen.

SR gfg BI TRT 3ATED A 8T SR © Al S HEd © |

When the speed of population growth increases is called ............ccccceeeuenen.

IRIR & I ISR & gRT HABR TATT ST a1l ST Bl oo
PEd B |

The industry run by all members of family is called..............ccccuvenennnen.

1914 ¥ BF a1l g DI YA fdvd Jg I Hed & 7 @)
What did the war 1914 call the world war-1 ?
drer greR BT AT I B 7 )

What is mean by Veto power ?

THRY &1 HEThI hii—hid A B 2 (1+1)

Which are the main epics ?
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gE U4 Ieradel @ JREN Bq Y ST arel & Surg foag | (141)

Write two ideas for the security of old and disables.

s fre & <1 o fafag | (1+1)
Write two advantages of labour division.

SUHIGT gad &7 3Merd foIlRaw | )
What is consumer surplus ?

BINTTG & U 9d & 9 fafay | 318 IR | (v4x4)

Write the name of important festivals of Chhattisgarh.

TR § Ui g & fHaree f&g ugfy g1 foar smar g 2 )
Which procedure is adopted for the election of President in India ?

S <9 & 9 foRay [ fder greR g1 g 7 (12x6)
Write the name of countries which have Veto power.

AHHT Fe fHaifad 8F @ forg a9 sifard argang fafay | (1x3)

Write three essential aligibility to elect as the member of Loksabha.

s forer Y R faRay | ®)
Write the definition of Labour division.

AR H&pid o1 A faRivang faliay | (1x3)
Write three characteristics of Indian culture.

SHAE gig ¥ I dIF SRRl & foRay | (1x3)
Write three problems arose by the growth of population.

SUHTERT S @ 3fef Ud dglfded ded ol fordiy | (1+2)

Write the definition and theoratical importance of comsumer surplus.
fgdi fawa g # S W & 3T SR 9 ? Bl IR | (1x4)

What was the reason of deofeat of Germany in World war-1I ?

“3Ar’ OR
ol ool B Gl Bl Sooikg HIFY | (4)
Describe the incidence of Pear]l Herbal.
TRIET B RIS Td TRIdT & HRON Bl foRau | (143)
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Define poverty and write its three reasons.

“gAar’ OR
IRISHTRI BT 31f T SRIGHTRY | S <9 Saaameti &l filRaw | (143)
Write meaning of umemployment and three problems arose by it.
gRa wifd fed ®wed € ? 3RT @ifd & 09 gRomAl & aw=mgy | (143)
What is green revolution ? explain three result of it.

“gAar’ OR
Fhaa] A 3T T THASI & ? Ahaal 81 drel i ol b forRau ((143)

What do you mean by Chuckbandi ? Write its three advantages.

TR H 9 ST AR g T ST § IR 3R forRay |
Write difference between cotton industry and Iron and steel industry.
“JYAr’ OR
DY R ITRA I Ud WS R ARMRT SN B Pl IR fd=gail
H g BT | (1x4)

Compare the industry based on agriculture and mineral.

TRRN IR 31fheT #A_IE § IoMfde JAGFRY & R SR o 2

Y | (1x4)

Explain the reason of political renaissance of Asia and Africa continent.
“dYAr’ OR

faeq 2rifd &1 WRMUAT g FYaT T T & IqavT Dol b Fedd © ?

How the porpose of UND helps to establish the world peace ? (4)
ARG fAdRT § 9ed IR BRI B R BT | (1x4)
Explain four factors that protest social development.

“dYAr’ OR

I @ At 2 fby S arel IR SUR 6l WK BIY | (1x4)
Explain four ideas for the improvement of women.

S uRReIfAl &1 Sooikg HINTT 9 HROT TRIIT T 3thieT H
AHIIATE BT {dbTd gafl | (1x5)
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Describe the condition by which imperialism rose in Asia and Africa.

“gAar’ OR
3ArEfiTes pifh | FHINSTS Ud ATd Siad IR U+ dTel U1l BT Seelkd
DITY | (1x5)
Describe the effects of social and economical lives due to industrial revolution.
IAf & IfRTAT BT Sl DHIVTT | (1x5)
Describe the condition by which imperialism rose in Asia and Africa.

“3Er’ OR
TR UTfeTdT 31EUeT B HIT—hIF H BT B BId 8 ¢ T BINTY [(1x5)

Explain the work of the chairperson of municipal council.

IOl & A FATEH] BT S8R0 Afed THSSY | (1x5)
Explain with example the new resources of energy.
“YAr’ OR
IOl G R Uh o fafay | (1x5)
Write an essay on energy resource.
TRA & AT § 4 B 3ifed divg — (1x5)
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(i 9 'S, (ii) 82), Yd QuNcR,  (ifi) Ty AT
(iv) AR A (v)  HagsT yad
Show the following in the Map of India.

(i)  Bombay Hagh, (i1)) 82 'seastlongitude

(i11) Kaveririver (iv)  Sambhar Lake (v)  Satpudahill
“IAr’ OR

() SR, (i) e S 9, (i) foewr s

(iv) PR AL SeTH (V) DD G | (1x5)

(1) Bailadila (i1)  Bhakhara Nangal Dam (i11)  ChilfaLake

(iv)  Kanjiranga National Park  (v)  Line of Cancer

BT ! faerdrel & fokay | (1x6)
Write the cahrateristics of Fascism.

“JYAr’ OR
fadi fawa g€ & BRI & GAS=Y | (1x6)

Explain the reasons of World war-I1.

P ARA B ATH & U ARAIY 3ffaell DI R T A STl 57
BREIER (1+5)
Agriculture is the soul of India why it is treated as a base of Indian economy.
Explain.

“dgAr’ OR
9 DI M BT 3P & AT 1l & | fad==m iy | (1+5)

Forest is a precious wealth of a nation. Discuss.



